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QUESTION 1

When creating a new Declaration type in Global Trade Management (GTM), which three processes may need to be
configured depending on the requirements of the local customs authority? (Choose three.) 

A. Set up a License Code that defines whether a license is incremented or decremented for the Trade Transaction. 

B. Set up a data configuration that defines the data required to be copied from the Transaction onto the Declaration. 

C. Define a constraint set with grouping criteria that identifies how to combine Trade Transactions into a Declaration. 

D. Create aggregation criteria that consolidate Transaction Lines, based on parameters such as tariff 

code or country of origin, into fewer lines on the final Declaration. 

Correct Answer: ABD 

 

QUESTION 2

Which two statements are true with respect to userID and domain relationship, during a standard OTM installation?
(Choose two.) 

A. The GUEST userID is created in the SERVPROV domain. 

B. The ADMIN userID is created in the DBA domain. 

C. The GUEST userID is created in the PUBLIC domain. 

D. The ADMIN userID is created in the GUEST domain. 

E. The DEFAULT userID is created in the ADMIN domain. 

Correct Answer: BE 

 

QUESTION 3

Identify the object in which Saved query cannot be used. 

A. Finders (Search pages) 

B. Automation Agents 

C. Business Monitors 

D. Reports 

Correct Answer: B 

 

QUESTION 4
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If a Rate Record and a Rate Offering are configured with conflicting values in the same data elements, how does OTM
address this? 

A. OTM\\'s planning engine will run the solver for both settings, but only consider the least cost result. 

B. The Rate Record will take priority over the Rate Offering configuration. 

C. During planning, the user will have the option of indicating if OTM should prioritize either the Rate Offering or the
Rate Record setting. 

D. The Rate Offering will take priority over the Rate Record configuration. 

E. Such a conflict cannot exist in OTM. 

Correct Answer: E 

 

QUESTION 5

At which three levels does Match Rules allow the Invoice Matching to occur? (Choose three.) 

A. Shipment Ship Unit line level 

B. Shipment level 

C. Order line level 

D. Shipment Ship Unit level 

E. Shipment location level 

Correct Answer: BCE 
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